< 00, > (M)

RatioI

<opp >0

Ratio

<d @> (rad)
o
[N
[¢)]

o
[N

o
N

.......

...................................

|
w

100,

-1 0 1 2 3
TP n (PCA to beamline)

o
[N

< o cot(y) >
o
[N
[¢)]

o
N

............................

‘jlilﬁ-|- I

QO[T T T T

1 2 3

TP n (PCA to beamline)

DQM_mKFIt_T Torigmal
DOQM_mkFit_TT_JanUpdate-noErr
DQM_mkFit_TT_JanUpdate-statErr
DOM_mkFit_TT JanUpdate-systErr

A OO @
o O O

20

iy

T 0 1 2 3
TP n (PCA to beamline)

! . X
B X
: 3 :
[ |41 : :
i i .
(]| [ B
1l gic)|
s g Q
2 i
I 1L b L Il

W

-2

-1 0 1 2 3
TP n (PCA to beamline)

<od,> (um)

T
+

1

RatioI

0 1 2 3
TP n (PCA to beamline)



	Contents
	Page 1


